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ENAHERE 14 16 -2 -12.5
SHEZERE 25 38 -13 -34.2
SMERERE 40 48 -8 -16.7
INGERE 7 10 -3 -30
St ERE 156 100 56 56
SNEERE 173 194 -21 -10.8 644
IRHZERE 49 55 -6 -10.9
SMAERE 20 27 -7 -25.9
ANEZERE 89 110 -21 -19.1
EFERE 15 16 -1 -6.3
=SERE 23 25 -2 -8
BETERE 24 38 -14 -36.8
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ENHAHhERE 0 0 0 -
SHEERE 0 0 0 -
EMERERE 0 2 -2 -100
INGERE 1 0 1 -
SNt ERE 1 1 0 0
SNEERE 0 0 0 - 5
RHERE 1 1 0 0
SMAZERE 0 1 -1 -100
ABERE 1 1 0 0
EFERE 0 1 -1 -100
= 0 1 -1 -100
HEFERE 0 0 0 -
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ENAHERE 23 19 4 21.1
SHEZERE 39 52 -13 -25
EMERERE 44 55 -11 -20
INGERE 7 12 -5 -41.7
SNt ERE 184 123 61 49.6
SNEERE 204 243 -39 -16 779
IRHZERE 50 63 -13 -20.6
SMAERE 23 29 -6 -20.7
ANEZERE 113 134 -21 -15.7
EFERE 17 17 0 0
= 28 32 -4 -12.5
BETERE 29 53 -24 -45.3




